
,"𝑝מחלקות,  kיש  … , 𝑝% – .סיכוי לראות מחלקה מסויימת 

𝑥' ∈ 0,1 Pr -ו + 𝑋' = 𝑥'|𝑧' = 𝑗 = Pr	(𝑋',5 = 𝑥',5|𝑧' = 𝑗)+
%7" 

𝑞9,5 ≔ Pr	(𝑋',5 = 1|𝑧' = 𝑗) 

𝜃 = (𝑝", … , 𝑃%, 𝑞",", … , 𝑞",+, … , 𝑞%,+) 

,"𝑥נתונות  … , 𝑥= ∈ 0,1  .EM. נעשה 𝜃, רוצים למצוא את +

E-step-  נחשב את𝑎',9? = Pr
@A
𝑧' = 𝑗 𝑋' = 𝑥' 

= Pr
@A
𝑋' = 𝑥' 𝑧' = 𝑗 	 ∗

Pr
@A
𝑧' = 𝑗

Pr
@A
(%

C7" 𝑋' = 𝑥' 𝑧' = 𝑙 ∗ Pr
@A
(𝑧' = 𝑙)

 

=
𝑝9? 𝑞9,5?

EF,G 1 − 𝑞9,5?
"IEF,G+

57"

𝑝C,5? 𝑞C,5?
EJ,G 1 − 𝑞C,5?

"IEK,G%
C7"

 

 

 

M-step-  נגדיר𝑄 𝜃 𝜃? = 𝐸N~אפוסטרי log Pr
@A
𝑋" = 𝑥", … , 𝑋= = 𝑥=, 𝑧", … , 𝑧= 

= 𝐸N~אפוסטריורי log Pr
@A
𝑋' = 𝑥', 𝑧'

=

'7"

 

= Pr
@A
𝑧' = 𝑗 𝑋' = 𝑥' log 𝑃𝑟

@A
𝑋' = 𝑥', 𝑧' = 𝑗

%

97"

=

'7"

 



= 𝑎',9? log 𝑝9 + 𝑥',5 log 𝑞9,5 + 1 − 𝑥',5 log 1 − 𝑞9,5

+

57"

%

97"

=

'7"

 

ℒ = 𝑄 − 𝜆 𝑝9 − 1
%

97"

 

𝜕ℒ
𝜕𝑝9

=
𝜕𝑄
𝜕𝑝9

− 𝜆 =
𝑎',9? 1
𝑝9

=

'7"

− 𝜆 = 0 

→ 𝑝9 =
1
𝜆

𝑎 ',9
?

=

'7"

 

𝑝9 = 1
%

97"

→ 	 𝑎',9?
=

'7"

= 𝜆
%

97"

 

𝑝9?Y" =
𝑎',9?=

'7"

𝑛
 

  



𝜕ℒ
𝜕𝑞9,5

=
𝜕𝑄
𝜕𝑞9,5

= 𝑎',9?
𝑥',5
𝑞9,5

−
1 − 𝑥',5
1 − 𝑞9,5

= 0
=

'7"

 

1 − 𝑞9,5 𝑎',9? 𝑥',5

=

'7"

− 𝑞9,5 𝑎',9? 1 − 𝑥',5

=

'7"

= 0 

 

→ 𝑞9,5 𝑎',9?
=

'7"

= 𝑎',9? 𝑥',5

=

'7"

 

𝑞9,5?Y" =
𝑎',9? 𝑥',5=

'7"

𝑎',9?=
'7"

 


